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11.
12.

Instructions for the Candidates
Write your Hall Ticket Number in the space provided on the top
of this page.
This paper consists of fifty multiple-choice type of questions.
At the commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requestedto open
the booklet and compulsorily examine it as below :

(i) Tohave access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.

After this verification is over, the Test Booklet Number
should be entered in the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the circle as indicated below on the
correct response against each item.

Example: @ . @

where (C) is the correct response.

(ii)

(iii)

Your responses to the items are to be indicated in the OMR Answer
Sheet given to you. If you mark at any place other than in the
circle in the Answer Sheet, it will not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
liable to disqualification.

The candidate must handover the OMR Answer Sheet to the
invigilators at the end of the examination compulsorily and
must not carry it with you outside the Examination Hall. The
candidate is allowed to take away the carbon copy of OMR
Sheet and used Question paper booklet at the end of the
examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.
There is no negative marks for incorrect answers.
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1. The economic rent earned by any factor will
be the highest if its elasticity of supply is

(A) Equal to one

(B) More than one

(C) Zero

(D) Infinity

2. The circumstance in which the consumption

expenditure of individuals does not decline
with the decline in theirincome level is called

(A) Ratchet Effect

(B) Income Effect

(C) Spread Effect
(D) Price Effect

3. Among the following accelerator is the ratio
between
(A) Induced investment and autonomous
investment
(B) Induced investment and initial
change in consumption expenditure
(C) Change in income and an initial
change in investment
(D) Change in income and an initial
change in consumption expenditure

4. According to Ricardo’s growth theory
stationary state is caused by
(A) Investment in Agriculture on inferior
land
(B) Low wages
(C) Investment in manufacturing sector
(D) Low share of rent of landlords
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Which of the following is an example of
positive externality in consumption ?
(A) Vaccination of a person with
contagious disease
(B) Smoking cigarette in a bus
(C) Construction of a new highway
(D) Smoke from a chemical factory

Identify the four canons of taxation
advocated by Adam Smith from the
following :
(A) Equality, productivity, certainty,
convenience
(B) Equality, certainty, convenience,
economy
(C) Equality, certainty, simplicity, elasticity
(D) Equality, elasticity, certainty, diversity
Technological Gap theory is proposed by
(A) Karvis
(B) Linder
(C) Posner
(D) Vernon

The standard deviation of the sampling
distribution of means is known as

(A) Standard Error

(B) Sampling Error

(C) Specification Error

(D) Probable Error

If r represents co-efficient of correlation
between X and Y, ,/1—r2 is known as
(A) Co-efficient of variation
(B) Co-efficient of determination
(C) Co-efficient alienation
(D) Co-efficient of association
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10. According to traditional theory of cost
which of the following statement is correct ?
[) The vertical distance between

Average Total Cost curve and Average
Variable Cost Curve is equal to
Average Fixed Cost
Il) Marginal Cost Curve intersects

Average Variable Cost and Average
Total Cost curve from below

) Average Fixed Cost curve is horizontal
to X’ axis

IV) Average Total Cost and Average
Variable Cost Curves are ‘U’ shaped

Codes :

(A) land Il are correct

(B) I, Iland Il are correct

(C) I, lland IV are correct

(D) I, 1, llland IV are correct

11. How does kinked demand curve analysis
help to explain the price rigidity ? The firm
will

) Gain only a few additional
consumers from a price reduction
since the firm’s competitors would
also reduce the price.

[) Gain few additional consumers from
a price reduction since the rivals
would not follow it.

lIl) Lose many consumers if it raises its
price since rivals would not follow it.

IV) Often find that MR = MC at the same

output level even after costs are
increased.

Which of the above statementis
correct ?
Codes :

(A) Only Iis correct

(B) land Il are correct

(C) I, lland IV are correct
(D) I, 1, llland IV are correct

I

10. SoRerol B HTFesHn EEEHn e ol
TS DO [ODHS 2
1) 2080 D 5500 B 5B DB S
5500 O 065 D0y TSR0 i R0
25000 B DITRH00
Il) eros 5500 B Dt BE H500 B
POGRAT, dfe oo H500 0P Sod
200G POGOWD
) Deveas Ho S S X egHoosso
DRTPOBEOTT® 600
IV) 5000 58 55000 B 5080 0080 Wi1ead
950 B ‘U’ es576508” éociono
geé(a .
(A) 1508050 11386300
(B) 1, 11558050 1 @0 5663052
(C) 1, 11508050 1V &0 38305
(D) 1, 11, 111558050 1V 258635

11. 30§ Adrol 5109 JZIer GO SyEgHD0
DHOOWIIZD D DGO EDBI MDD ?

) S0 @y, 386 PeJordhes ST (6K
éé?f?oiﬁdéo 08 eSdorr 500 £o HKood
DATITHTEDE FOCSHEN0

ll) oy doos), Pedardons §8 BRoB
€9:3000WERIE0 Hod esdor K08 o
5008 IABPNTEORK FOESHE0

lll) 0% &6 Do 78S e Sogeo T
@SONVO0IEPRI G0 S5 §o% $o0H
VDT RTSH08 S 3559

IV) 5505070 28A33E, erod Treadk KoBod
&0l Salired e G o B BEEP
RSB GO0,

2 TS DB HOGWBE’ KOOBIS0.
§&, :
(A
(B
(C
(D

| 5370 BB

| 508300 I 838D

1, 11150803500 1V 80305

[, 11, 150803 [V 560305

~— N N S

A-05-02



12. Which of the following statements are
true about the features of Keynesian
Consumption function ?

[) Consumption depends on income
I1) MPC is less than one but greater than
zero
[Il) APC falls with the increase in income
IV) Consumption function is unstable
even in the short run
Codes :
(A) lonly correct
(B) land Il are correct
(C) I, Iland Il are correct
(D) L1, Iland IV are correct
13. Structural change development models are
associated with
[) Arthur Lewis
I1) John Fei and Gustav Ranis
) Harrod, Domar
IV) Robert Solow
Codes :
(A) land Il correct
(B) lland IV correct
(C) I, lland Il correct
(D) I, lland IV correct

14. The positive effects of International Trade
are
[) Widening of markets
[) Increased consumption
[II) Optimum allocation of resources

IV) Wider choice of commodities
Codes :

(A) I, lland IV are correct
(B) 1, Iland Il are correct
(C) I, llland IV are correct
(D) L1, Iland IV are correct
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15. According to Wiseman and Peacock
public expenditure increases in a

[) Smooth and continuous manner
[) Step-like manner

[I) Smooth and discontinuous manner
Codes :

(A) lonly

(B) Il'only

(C) Bothlandll

(D) 1l only

16. The Stopler-Samuelson theorem analyses

the effects of tariffs on
)
[1) Consumption
1)

IV) Terms of trade
Codes :

(A) lonly
(B) land i
(C) M only
(D) llland IV

17. Among the following production levels of
which of the crops have not increased after
1980s.

[) Jowar
I) Ragi

) Wheat
IV) Rice

Codes :

(A) land i
(B) lland il
(C) land lll
(D) llland IV

Production

Income distribution

I
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18. Two regression lines Y on X and Xon Y
will co-incide when correlation co-efficient

I 0
I -1
1

IV) r=0.5
Codes :

r

=

)
)
)

r=+1

A) lll only correct
B) Il and Il are correct

C) llland IV are correct

(
(
(
(D) I, llland IV are correct

NOTE : The following questions consists of
two: One is known as Assertion (A)
and other is known as Reason (R).
Examine these two statements
carefully and select the answer to
these items using codes given
below :

19. Assertion (A) : The cross elasticity of
demand for Motor cycle
and petrol is positive.

Reason (R) : Motor cycle and petrol are
complementary goods.
Codes:

(A) Both A and R are true and R is the
correct explanation of A

(B) Both A and R are true but R is not
the correct explanation of A

(C) Aistrue but R is false

(D) Ais false but R is true
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20. Assertion (A) : According to Keynes
money wage is relatively
flexible in the short run.

Reason (R) : Keynes argues that
workers do not realize
money illusion.

Codes:

(A) Both A and R are correct, R is the
correct explanation for A

(B) Both A and R are correct, R is not
the correct explanation for A

(C) Aliscorrect R is false

(D) Ais false R is correct

21. Assertion (A) : Monetary policy is
preferred to fiscal policy
to achieve external

equilibrium.

Reason (R) : Monetary policy acts both
on current and capital
accounts of balance of
payments.

Codes :

(A) Both A and R are correct and R is
the correct explanation of A

(B) Both A and R are correct, R is not
the correct explanation of A

(C) Alistrue R is false

(D) Ais false Ris true
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22. Assertion (A):The determinants of growth

in Harrod Model are S (%)

AY
cl =~
and (AK)'

Reason (R) : Determinants of natural
growth are growth of
labour force and growth of
technical progress.

Codes :

(A) Both Aand B are true, Ris the correct
explanation of A

(B) Both Aand B are true, R is not correct
explanation of A

(C) Aistrue Ris false
(D) Ais false R is true

23. Assertion (A) : Normally, a government
does not repudiate its debt.

Reason (R) : Repudiation will not shake
the confidence of the
creditors.

Codes :

(A) Both A and R true, R is the correct
explanation for A

(B) Both Aand R true, Ris not the correct
explanation for A

(C) Aistrue, Ris false

(D) Ais false, Ris true
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24. Assertion (A) : The budget is both a
backward and forward
looking account.

Reason (R) : The budget contains three
types of figures — the
actuals for the preceding
year, the revised estimates
of the current year and the
budget estimates of the
following year.

Codes :

(A) Both A and R are correct, R is the
correct explanation for A

(B) Both A and R are correct, R is not
the correct explanation for A

(C) Alistrue R is false

(D) Ais false Ris true

25. Assertion (A): India’s Foreign Trade was
liberalized in India in 1991.

Reason (R) : The then trade policy led to
corruption and inefficiency.

Codes :

(A) Both A and R are true, R is the
correct explanation of A

(B) Both A and R are true, R is not the
correct explanation of A

(C) Alistrue R is false

(D) Ais false Ris true
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26. Assertion (A) : Indian economy emerged
as dualistic economy.

Reason (R) : Growth with distributive
justice is achieved in India.
Codes :

(A) Both A and R are true, R is the
correct explanation of A

(B) Both A and R are true, R is not the
correct explanation of A

(C) Alistrue Ris false
(D) Ais false R is true
27. Assertion (A) : An unbiased random

sample can portray the
traits of the population.

Reason (R) : Every population has
characteristic properties
with limited variation.

Codes :

(A) Aistrue but R is false
(B) Ais false but R is true

(C) Both A and R are true, R is the
correct explanation for A

(D) Both A and R are true, R is not the
correct explanation for A
NOTE : Sequencing type : (28-36).

28. Arrange the following economists in the
chronological order of their contribution to
cardinal utility theory of demand.

[) Marshall Il) Jevons
) Walras IV) Gassen
Codes :

(A) IV, 1, llland |
(B) IV, 1, Iland |
(C) LIV, llandlll
(D) 1,1, IVandlil
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MO0 1 580 EBrIE DowoBodsd (28-36).

28. (HATED GBrob DTOBIB CrFoBODS
SITZIGOD (550 SIS eodyytoo.

) $°5S ) S,
) Sreo V) o8
geé(a .

(A) IV, 11 50805 |

(B) 1V, I, 1155805 |

(C) LIV, 50800

(D) 1, 1, 1VS08ama
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29. Arrange the following in the ascending
order of the co-efficient of price elasticity
of demand.

[) Demand curve which is parallel to
vertical axis
[I) Demand curve which is parallel to
horizontal axis
[I) Demand curve which has the slope of
rectangular hyperbola
IV) Demand curve which is relatively in
elastic
Codes :
(A) LI IVandll
B) LIV, lllandl
(©) LI IVandlll
(D) I L lland IV

30. Arrange the following consumption
functions in the decending order of their
multiplier value.

) C =800 +0.75Y

) C =500+ 0.5Y
) C =900 +0.9Y
IV) C =100 + 0.25Y

Codes :
(A) NI Land IV - (B) HIL 1L IVand |
©) ILulandIv- (D) 1,1, llland IV

31. Identify the measures of development
from the following :

[) Gross National Income
Il) Percapita Income
ll) Changes in production and

employment
IV) Gini co-efficient
Codes :
(A) land i (B) landlll
(C) I, lland Il (D) I, Mand IV
Il 13

29. 2 &5 ESro& ?555{5 KoEaE50050 w8
ESTR RP0D &R0 JodE Datosw.

1) ¢35 B DXTOBEHOMT ey GdTok O
) 258%57es B SRTOBSHRITT €xdy Cexdrobs O
) ooz &9 Sordeanmn Ersand’ &) ok

[s5:
V) g @s‘ggs{é &5r0& B
§&, :
(A) 1 111, IV 508050 I
(B) 1, IV, lll 50805 I
() I, 11, IV 505050 Il
(D) 11, 1, 111 5560 IV

30. 5+ (208 DIRTHK PO T3 Kress
DOOFOB5E0008) 958 e (§5008° GO0,
) C=800+0.75Y
Il) C =500+ 0.5Y
) C=900+0.9Y
IV) C =100 + 0.25Y

§&,

(A) 1, 1, 11558055 IV
(B) 1L, 11, 1V 50805 |
(C) 11, 11I, 1 558050 IV
(D) 11, 1, 1l 5560 IV

31. (€0 5500605 T2 800G D STORIOH008
KoB0BEH.

) Sre erdoirorashn
1) S50 esmraXhRon
lll) €:5y8 800 el PBed 5oy

V) A messsos

§E§Q:
(A) 1556050 I (B) I 556050 I
C) L 08 Ml (D) I, 508050 IV
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32. Arrange the following growth economists
in the chronological order of development
of their theories.

[) Ragnar Nurkse
Il) Rosenstein Rodan
lll) Leibenstein

IV) Harrod
Codes :

(A) 1,1V, land 1l
(B) I, 1, llland IV
(C) v, il Nand |
(D) L1, land IV

33. Arrange the following state taxes in the
ascending order of their revenue
importance.

[) State Excise Duties
[l) General Sales tax
[Ill) Taxes on vehicles
IV) Stamps and Registration charges

Codes :

(A) IV, 11, 1and Il
(B) IV, Ill, lland |
(C) 1,1, lland IV
(D) I, 11,1V and Il

34. Arrange the following incidences in the
International Monetary System in
chronological order.

[) Introduction of SDRs

) Breakdown of Brettonwoods system
[II) Smithsonian Agreement
)

IV) Floating of major international
currencies
Codes :
(A) L1 lTand IV
(B) 1,1, IVandl
(C) LIV land Il
(D) v, 1, land |

| i

14

32. ot gugad 5B edTy DB 7O T
DToTe ed5R E0N00 e HEDEReed”

@PQI00K0.
) obE0);,
ll) %598 s
) 88555
V) Soé
§&,
(A) 11,1V, Isosams Il
(B) 1, 11, Nlsodaxs IV
(C) IV, I, 150005 |
(D) 11, 11, 1506050 IV

33. &% D& 1) TR D00 063 TG @“’@265@
ST ($50 DSBS’ eSotinan.

l) oopI5yeE ooso
) Org-Ses Tredess 559
) =57rop Do By
IV) Qrosden 500000 8225 Dneo

§&, :

(A) IV, 111, 50805 I
(B) IV, III, 1150805 |
(C) 1, 11, Ml 558050 IV
(D) 1, 11, IV 5538055 Il

34. 0BT AL (G B9 HoeIeDY od
(ooqaoéa(‘ée)?éo S50 @moéis @B0E)000.

) S.D.R. oo Bagtes

) @eaSeby 9551 NRyR
) 5SEPA00S eucioardss
IV) @500 odTdab $Bwts B0 $60

Do

§&, :

(A) 1, 11, Hl508050 IV
(B) 11, 11, 1V 508050 |
(C) 111, 1V, 1558050 Il
(D) IV, I, l1508cxs |
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35. Free International trade takes place under

[) Preferential Trading Arrangement
[l) Free Trade Area
[lI) Customs Union

IV) Common Market

Codes :
(A) 1, 1land Il

(B) II, llland IV
(C) I, lland IV
(D) landll

36. Arrange the steps in order to test the
significance of the population regression
coefficient.

[) Compute the test statistic value with
degrees of freedom

[I) Compare the calculated value with the
critical value

lll) Calculate the sample regression
coefficient and its standard error

IV) Arrive at the test result

Codes :
(A) 1,11, 11,1V
(B) 1,1, 11, 1V
(C) 1L 11,1V
(D) I, 11,1, 1V
I 15

35. &oSTda0 ) TEroH o O H0R8E°
0ErsR00 9

S

) ooy Sredesg o8N

)
)
1) 5350y QXA

)

IV) =505 55°0),e5

§&, :

(A) 1, 1l 50000 Il
(B) 11, 1l 506050 IV
(C) 1, lll, 558056 IV
(D) 1 50000 I

36. gy (AMNDD MRS TYEHD 308010’
P00 HEIER0E’ e95087800.

) SsBoy HDORS” BOF Tropgd VLoD
Hedocso
1) 88,005 Dooits $3DeusE Feoyko

) SSVADD AN METS T (53 Sk
& 0%¢0

IV) 30z 50z AZBoEo

SE, :
(A) L1111, 1V
(B) 11,11, 1V
(C) 1,1, 1,1V
(D) 1,11, 1,1V
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NOTE : Match List-l with List-1l and select the
correct answer from the codes given

below :
37. List -1

List-II

a. Perfect competition 1. Collusion of firms
b. Monopoly 2. Excess capacity

c. Monopolistic

3. Uniform price

competition
d. Oligopoly 4. Blocked entry
Codes :
a b ¢ d
(A) 2 4 3 1
(B) 8 4 2 1
(C) 3 1 2 4
(D) 2 1 38 4

38. Maitch the following :
List-1

(Consumption Function (c)
Investment Level

a. C=200+0.8y and | = 500
b. C=200+0.9y and | = 600
c. C=100+0.75y and | = 1000

d. C=1000+0.5y and | = 1000

Codes :
a b ¢ d
(A) 4 3 2 1
B) 3 2 1 4
(C) 4 3 1 2
(D) 8 4 2 A1

| i

List-II

Equilibrium
National
Income

1. 4,000
2. 4,400
3. 3,500

4. 8,000

16

0% 1 Dotk eriTred® IV eoTed FAFRITZTO,

2008563 22T woTos Do rerdt)

90T 23BIGEO[0
37. D —| -l
(507065 BiTisas) (SoEsrsEo0)
a. SO Fdurones 1. HEyes
DOF0OFO0E
b. D8Trgogsa 2. REIH0G oo
C. D5y eI 5oBes 3. DB 655
d. 5028 Jrgogiod 4, (558 850
geé(a :
a b ¢ d
A 2 4 3 1
B 3 4 2 1
€ 3 1 2 4
b 2 1 3 4
38. 2BHOBIED.
- | -l
(DB e (€) (Bxo2ey
eageads o) ST
a. C=200+0.8y 50000 1 =500 1. 4,000
b. C=200+0.9y 208050 | =600 2. 4,400
c. C=100+0.75y 080k 1 =1000 3. 3,500
d. C=1000+0.5y 5000 | = 1000 4. 8,000

geé(a :

a b ¢ d
(A) 4 3 2 1
(B) 8 2 1 4
(C) 4 3 1 2
(D) 3 4 2 1
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39. Maitch the following :
List—1

a. Harrod-Domar Model 1.

b. Mahalonabis Model

c. Leontif Model

d. Cost-Benefit analysi

Codes :
a b ¢
(A) 3 4 1
(B) 4 3 2
(C) 1 2 3
(D) 1 4 3

40. Match the following :
List—1

a. Adam Smith

b. Peter A. Phyrr

c. J.M. Keynes

d. Treggve Haavelmo

Codes
a b ¢
(A) 1 2 3
(B) 4 3 2
) 2 3 4
(D) 3 4 1

List-II

Model

2. Shadow
price

3. One sector

analysis

N

S
analysis

N A= N Q

List-II

1. Balanced budget

multiplier

2. Balanced budget

3. Zero based

budget

4. Unbalanced

budget

-~ o~ o

N

Input-output

. Two sector

17

39. 2383580000,

N —|

Rzl

a. FTE-ERrb St 1. &HY-ETEse

B

b. 505D S50 2. TAXR GBS

C. dAToedp S 3.
d. o @vemgzm

geé(a .

(A)
(B)
(C)
(D)

A 0o

C
D

A D W T

1

40. 23835 80500.

e — |
a. oS
b. 2¢6.36
c. 2 2545,
d. ¢igREy

geé(a .

"3

ggvv
w N
AW w N T

(7]

wWw W N

A D W o

28 Sol 30ed

4. Boci Sorre Jged

A ||
1. Ho80d 23%95 &R
LDosodss aa%ef

ER5 0% ao%ef

A w D

95000 ao%éf

A-05-02



41. Match the following :

List—1 List—1I
Availability theory 1. Vernon
b. Product cycle theory 2. Kranis
c. Preference similarity 3. Posner

theory

d. Imitation gap theory 4. Linder
Codes :
a b ¢ d
(A) 1 4 2 3
B) 2 3 1 4
C) 2 1 4 3
(D) 4 1 3 2
42. Which one of the following is not correctly
matched ?
(A) ASEAN : 1967
(B) NAFTA : 1994
(C) EEC 1957
(D) SAARC : 1975
43. Match the following :
List-1 List-1I
a. Lead Bank Scheme 1. 1969
b. Service Area Approach 2.1987
c. Regional Rural Banks 3. 1975
d. NABARD 4.1982
Codes :
a b ¢ d
(A) 1 2 3 4
B) 2 3 4 1
@ 3 2 1 4
(D) 4 1 2 3

| i

18

41. 2330SWo50.
- -l
a. ogke ?oq;oéé;ﬁoo 1. o
b. 5% W& dgrosswn 2. @0

C. Ersgd o drossn 3. Ppd

d. 950558 oo ?oq;o@m 4. doch
§E§Q:
a b ¢ d
(A) 1 4 2 3
(B) 2 3 1 4
(C) 2 1 4 3
(D) 4 1 3 2

42. & 0OT%3E” DO DO esBISHRICESE MHOOENRD ?

(A) ASEAN : 1967
(B) NAFTA : 1994
(C) EEC 1957
(D) SAARC : 1975

43. E0d T3 eBBEBN00.

- -l
a. O& ergoi BesEo 1. 1969
b. TarEro® gt 2. 1987
C. roBoX [rades ere 3. 1975
d. Serb (NABARD) 4. 1982
§&,
a b ¢ d
(A) 1 2 3 4
B) 2 3 4 1
C 3 2 1 4
D) 4 1 2 3

A-05-02



44. Match the following : 44, 253505050.

List-1 List-1I D — | ot I ||
a. Binomial distribution 1. Laplace a. Oy gt 1. oD
b. Normal curve 2. R.A. Fisher b. JrSer HE0P 2. R.A. 5386
c. ANOVA 3. Pascal c. ANOVA 3. IS
d. Probability 4. K.F. Gauss d. Rosrig® 4. 5.9
Codes : £&:
a b ¢ d a b ¢ d
A 1 2 3 4 (A1 2 3 4
B 4 3 1 2 B 4 3 1 2
€ 3 4 2 1 C 3 4 2 A
by 2 1 4 3 M 2 1 4 3
45. Match the following : 45. 23535Bo00.
List—1I List—II o —| o —l
a. P (Type | Error) 1. Rejecting a true a. P (13550 &552) 1. T H0FNdK0
hypothesis 59,6050

b. 1-P (TypellError) 2. Not rejecting a
false hypothesis b. 1-P (115 5% &%) 2. 50570 $05ey0i

c. 1-P (Type | Error) 3. Level of BT, 00uE P
d. Typell error 4, ISDISCVZI:: 2: t(I:wee test ¢ 1-P(Inosobuam) 3 g 700
5 Level of d. 115 550 &5%0 4. 56558
confidence 5. 5008 53
Codes : &y
a b ¢ d a b ¢ d

(A) 5 3 4 1 A 5 3 4 1

B 3 4 5 2 B 3 4 5 2

C) 5 4 3 2 Cc 5 4 3 2

D) 4 3 5 1 b) 4 3 5 1




Read the passage and write answers for
Q. No. 46 to 50.

Reviving investment, essential for growth of
jobs and income, requires a three-pronged
approach that works through improving
India’s long-term growth prospects. First
government must ensure low inflation by
putting in place a framework for monetary
policy, fiscal consolidation, and food market
reforms. Second, it must put public finances
on a sustainable path through tax and
expenditure reform. Tax reform requires a
GST, DTC, and more predictable tax
administration. Expenditure reforms must
focus on public goods, new designs for
subsidy programmes, and mechanisms for
accountability. India requires the legal and
regulatory frameworks for a market economy.
This requires repealing the old legacy laws
and creating state capacity to address market
failures. [Economic Survey: 2013-14, P. 29].

46. The immediate method of creating
additional employment in Indian
Economy is

A) Ensuring low inflation

B) Lowering interest rates

C) Additional Government spending
B) Raising investment

(
(B)
(C)
(B)

47. |dentify the important three-pronged
strategies for reviving the investment in
Indian Economy.

[) Low inflation

) Tax and expenditure reforms
[I) Overcoming market failures

)

IV) Reform of Legal and Regulatory frame
works

V) Introduction of GST and DTC
Codes :

(A) 11111l
(B) I, I, IV
(C) I, 11,1V
(D) 1l IV, V

| i

20

&8 QN J9gRICER 900550 W8 (46 - 50) (e

bmm&mo&
rOB0E OPSTOE 5B oMOBENEIE, e
@266365683 e5TPAD, é&%ﬂé ;6&(‘3 @;6(06;633 aocﬁo§>
(AR @mgp EORS széo @Zﬁm@o{s:s@(ooiwé&& 0N
@58?3@2)292333263 SO0 GOTIIDTTRL DT (5555
DR, §% A N 070,508, 5ee0
295000NBVRDO &36&& &0 DGO BOCED :633&3553:66
0TS DB ATFIE TH1TT 510 DOTOBOTVIE GRS
5500 osm&@&mb& ©9:5000 DODHOD &0, oam&ea
R0:0), 08300 (DETRoN® TS e 5950y (GST) 5%
D3N DVOFTHI) CFFoBONEOE 2t DN
DOTPOT® ITPHD0D0 DETHS0 DODKHOD &od. b?goi)
0K, TN (ST RN (e, (oé’)@cs; JETHN S
ErB0D0 FOT, D5RE" 50008 erETaboBTNY
&o@“o&oiﬁb@@ éé&g PESHDE ;§J°6be5 ;5553 PSPeS)
@éﬁé\édiﬁoeﬁ WEIDTI, L§;§oeac‘5§c‘5£9 ;5555 BB
ST oB0550% ofooé&& s womo @sﬁouﬁ TS
Do, £ 738 Prooused &nd. OB EIOT
:Q?Bb£3q>®°§®éo QR0WNTIS (e T8 & g0
@oéb@@oﬁoé&@
[Economic Survey: 2013-14, P. 29].

46. 2055 QY SRS S5 G Sy STHeRD
BEE @OBI0
(A) (S geEamion BE) N e0teae W0
(B) ¢ Bexdo Bhoscso
(C) 5 ©abds 9ty
(D) enectd wowco

47. eS8 eBE De5HS’ enacioe PHIGETEF
@m@aoao@‘os 507°¢5 @cm :gyégoé;’bes 9

) @%@585@%)89
) D890, BB H50% Hod), TEen
) 550,05 DPermgeidd Qoo
V) $5658308 508050 L&%oaa@s(c‘isa SIISES
Qo) B0
V) Soroes e 95y (GST) 500050 @8
255010 J20¢T 59 (DTC) @8 2ene

gs&(a .

(A) 1,1, (B) 1,1, 1v

(C) 1,11, 1V (D) 1II, IV, V
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48. Assertion (A) : Food inflation is high in

India.

Reason (R) : The Government has not
yet introduced reforms in
food market.

Codes :

(A) Both A and R are true and R is the
correct explanation of A

(B) Both A and R are true, but R is not
the correct explanation of A

(C) Alistrue R is false
(D) Ais false R is true

49. Low inflation rate can be ensured in the
economy by

[) Increasing rate of interest
Il) Decreasing rate of interest
lll) Increasing Government expenditure
IV) Decreasing Government expenditure
Codes :

(A) landll

(B) llandlll
(C) llland IV
(D) land IV

50. Expenditure reforms do not imply

A) Provision of more public goods

B) Increasing subsidy

C) Decreasing subsidy

(A)
(B)
(C)
(D)

D) Ensuring accountability

48. [FOFES (A) @ groBiEsnsd’ bt Sigentn
SOEZON® 0.

o (R) (3808550 &% $770),0
2059, 589000 563 D6
(B850,
geé(a .
(A) A 50050 RBoc> 50630, R, Acoy),
5BCD AdE

(B) A 550050 RBoc> 506305, R, Acoy),
OGRS DITED T
(C) A8aod R H0G0HE 57
(D) A 26c006 5°¢5 R 8063056
49. 3305 G QETY TROVEDS SHHOD HS5o
1) & Beasiso 2oty
Il) ¢ Beaoiso BRowcso
lll) a0 90000 oWEo
V) @giiss Ssambsonss Shotco

&,

(A) 108l

(B) 11506050 Il
(C) 15600 IV
(D) I 500050 IV

50. $od TS B0t H0),EE0E $PoBAB B ?
(A) 9BF Pe SO S0yd
(B) 58Gess woiio

(C)

(D) er

RENGR BROKEO

PGB AINBI0 QoW

| e 21
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